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15-4. M40 02 Mg

!
\,
Frequency o £ = 2
(Hz) Vin | Vout &0l &8 8F| Vin | Vout N OlS MM &F
(Vpp)| (Vpp) | OIS dB |[IT (mApp)|(Vpp)| (Vpp) | OIS dB8 |IT (mApp)

200 10 10 1.00 0.00 10 10 9.8 0.98 -0.18 9.8

500 10 | 9.99 1.00 | =0.01 9.99 10 9.8 0.98 -0.18 9.8

1,000 10 | 9.98 1.00 | -0.02 | 9.98 10 9.8 0.98 -0.18 9.8

2,000 10 | 9.89 0.99 |-0.10| 9.89 10 9.6 0.96 -0.35 9.6

3,000 10 | 9.6 0.96 | -0.35 9.6 10 9.2 0.92 -0.72 9.2

4,000 10 | 8.26 0.83 | -1.66| 8.26 10 8 0.80 -1.94 8

5,000 10 | 0.41 0.04 |-27.74] 0.41 10 | 4.3 0.43 —-7.33 4.3

6,000 10 | 7.45 0.75 | -2.56| 7.45 10 4.4 0.44 —-7.13 4.4

7,000 10 | 9.05 0.91 | -0.87| 9.05 10 7.2 0.72 —-2.85 7.2

8,000 10 | 9.5 0.95 | -0.45 9.5 10 8.4 0.84 —-1.51 8.4

9,000 10 | 9.68 0.97 |-0.28| 9.68 10 8.8 0.88 -1.11 8.8

10,000 10 | 9.78 0.98 | -0.19| 9.78 10 9 0.90 -0.92 9

15,000 10 | 993 | 0.99 |-0.06| 9.93 10 | 9.6 0.96 -0.35 9.6

20,000 10 | 9.96 1.00 | -0.03| 9.96 10 9.8 0.98 -0.18 9.8

30,000 10 | 9.99 1.00 | =0.01 9.99 10 9.8 0.98 -0.18 9.8

40,000 10 | 9.99 1.00 | -0.01 9.99 10 9.8 0.98 -0.18 9.8

50,000 10 | 9.99 1.00 | -0.01 9.99 10 10 1.00 0.00 10
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15-6. =li==0l IE &%, SLIEAL
\
o & 4 @
O T va [ @mam [ames| A&z | AmeAs
(Vop) | IT (mApp) | 1Z] (R) (Vpp) IT (mApp) 1Z] (@)
200 0.13 10 13.00 0.305 9.8 31.12
500 0.32 9.99 32.03 0.41 9.8 41.84
1,000 0.65 9.98 65.13 0.7 9.8 71.43
2,000 1.48 9.89 149.65 1.36 9.6 141.67
3,000 2.81 9.6 292.71 2.4 9.2 260.87
4,000 5.64 8.26 682.81 4 8.0 500.00
5,000 9.99 0.41 24,365.85 6.3 4.3 1,465.12
6,000 6.67 7.45 895.3 6.3 4.4 1,431.82
7,000 4.26 9.05 470.72 5 7.2 694.44
8,000 3.13 9.5 329.47 4 8.4 476.19
9,000 2.49 9.68 257.23 3.1 8.8 352.27
10,000 2.08 9.78 212.68 2.6 9.0 288.89
15,000 1.19 9.93 119.84 1.44 9.6 1560.00
20,000 0.85 9.96 85.34 1.04 9.8 106.12
30,000 0.55 9.99 55.06 0.67 9.8 68.37
40,000 0.4 9.99 40.04 0.5 9.8 51.02
50,000 0.32 9.99 32.03 0.43 10 43.00
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1T =5.67F % 20uSec
=112uSec
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15-9. =
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[0l mE &3, 2

= A

Frequency VRi IL XL VR2 [e Xc

(Hz) (Vpp) (mApp) (2) (Vpp) (mApp) ()
200 1.12 112 89.29 0.006 0.6 16,666.67
500 1.1 110 90.91 0.015 1.5 6,666.67
1,000 0.86 86 116.28 0.038 3.8 2,631.58
2,000 0.6 60 166.67 0.088 8.8 1,136.36
3,000 0.44 44 227.27 0.15 15 666.67
4,000 0.35 35 285.71 0.2 20 500.00
5,000 0.29 29 344.83 0.28 28 357.14
6,000 0.24 24 416.67 0.3 30 333.33
7,000 0.205 20.5 487.80 0.35 35 285.71
8,000 0.18 18 555.56 0.4 40 250.00
9,000 0.16 16 625.00 0.43 43 232.56
10,000 0.14 14 714.29 0.5 50 200.00
15,000 0.09 9 1,111.11 0.7 70 142.86
20,000 0.065 6.5 1,538.46 0.85 85 117.65
30,000 0.038 3.8 2,631.58 1.1 110 90.91
40,000 0.025 2.5 4,000.00 1.2 120 83.33
50,000 0.015 1.5 6,666.67 1.3 130 76.92

83




15-9. =Ii=0l IE 85, clHEA

P
\
HZ (A)
0.14
/
0.12
/
0.08 \ /
0.06 \ //
0.04 41{/
o / N —
0
0 5000 10000 15000 20000 25000 30000 35000 40000 45000 50000

—IL —IC

L1IL]




15-9. =Ii=0l IE 85, clHEA

clHE A (Q)

Y

18000

16000

14000

12000

10000

8000
6000 A

4000 \

2000 |
|
Y —

0 5000 10000 15000 20000 25000 30000 35000 40000 45000 50000
—XL —XC

L1IL]




